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QUESTION 1

You are designing a payroll table that will contain a salary column. Which of the following is the appropriate built-in data
type for a salary column?

A. REAL

B. BIGINT

C. DECIMAL

D. INTEGER
Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SS6NHC/
com.ibm.swg.im.dashdb.sql.ref.doc/doc/r0000791.html

QUESTION 2

An external stored procedure is invoked using a CALL :hv (host variable). Which special register identifies the location
of the procedure?

A. CURRENT PATH

B. CURRENT SCHEMA

C. CURRENT PACKAGESET

D. CURRENT ROUTINE VERSION
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/sqlref/src/tpc/ db2z_sql_call.html

QUESTION 3

Which two of the following functions are synonyms of one another? (Choose two.)
A.CLOB

B. VALUE

C. IFNULL

D. DBCLOB

E. COALESCE

Correct Answer: BE
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Reference: https://www.techagilist.com/mainframe/coalesce-scalar-function-db2-queries/

QUESTION 4

The following warning message is issued when the last available active log data set is 5% full:
DSNJ110E -LAST COPY n ACTIVE LOG DATA SET IS nnn PERCENT FULL

What will happen if you ignore this message?

A. DB2 will shut down if it reaches the 100% full condition

B. DB2 will overwrite the oldest archive log without archiving

C. DB2 will stop any activity that requires log writes if it reaches the 100% full condition

D. DB2 will automatically allocate more active log data sets as long as there are still less than 93 of them
Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/msgs/src/tpc/dsnj110e.html

QUESTION 5

Which command displays the DB2 catalog level and migration mode?
A. DSNC DISPLAY

B. MODIFY irlmproc, STATUS

C. -DISPLAY GROUP DETAIL

D. -DISPLAY DATABASE (DSNDBO06)

Correct Answer: C
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